
ST 204 (HI
1



‘atamete

ie)

cd/o:

3stimato

6)

s2

Sampling distributior

Sampling distribution

UUJ (n - l) sz  &I  x “,.I
02

I@lUAn& 91Ul@lUOJ

~dl4dlJtllfl  Normal.

sopulation pili variant

s:/s: Sampling distribution

- -

(1  - a)~wh  C.I.  WOJ  e

!-~)loo%  C.I.  WOJ  uz  c;fJ

(n - 1)s’
7--

(:- 1)s’

X,-l,  a/2 X,-l,  I-a/2
>

q"n' g = ,& [ z .:-(Eg  ]

(1 -a)100%  C.I.  WDJ u  iTo

~ a)100%  C.I.  WOJ c&u:  60

d 1
s:  f(“,.l.  n*-ILo/

2if’ s; (n*-I.  n,-l),a/? )

(I-a)lOO%  C.I. WOJ  aduz  ‘%I

2 ST 204 (H)



‘B

n = 25, j; = 10.2, s = 3:1,  s2 = (3.1)*  = 9.61

cr2  = variance lJ0Wk~~1WlbU0~  cadmium lUt?U;Ju’w

98% C.I. VW a2 t;o

= (24 (9.61)2 ( 9 . 6 1 )  j

x:4. .01 x2.4. .99

230.64 230.64= (--42.98 ’ 10.856

= (5.3662, 21.2454)

. 98% C.I. UoJ  u &I  (x&%2,  J21.2454) = (2.3165, 4.6093). .
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9 5 % c.1. UDQ u2 do (-F- 9(1.44) 9(1.44)

9. ,025 ,7--j 9759.

= (l~,Eg>

= (.6813,  4 .8)

:. 95% C.I. UbJ u do (vm, 6%) = (.8254,2.1909)

2.4 hhlSlJ F (Wil4  A 6)&w,

fl> fu. $ 05  .fu. 9). .95 u, f(% 0. IO. f(3, 8). 90

n) f(12. 7) .95.  f(,Z. 7). .05 J) f(4, 0, .90, f(4. 8). .LO

If(7,  9). 9) =----- 1= =f(9. .271?7) 05 3.68

u) fu,  8). .,o = 2 .9238

1 1f(3.  8). .90  =  - - - -  =  ___  =  .I904
f(S,  3). .I0 5.2517

n>  fw. 7). .05 = 3.57

1 If(lz.  7).  95 = ~---;-y~ =-2.91=  .3436

J> f(4.  8). .,o = 2 .8064

fw. 1 18). .99 = ___-  = _I  = .2529
f(8.  4). .LO 3.9549 /
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nuyiYdYn”sa4llJu
fli$JflW?lJ  (Control group)

Mean x, =  4 1 . 8 ii* =  60 .8

s.d. s,  = 7.6 s2  = 16.4 ’

qW1  90% C.I. 9104 ratio “UOJ  population standard variation I?J  2  ($u~Jo~  a,/~,~)

nl = 6, \‘I = 5. s, = 7.6, s: = 57.16

nz = 6, “2 = 5, sz = 16.4, s: = 268.96

2
51 = 5 7 . 7 6  = .21,4*
S: 268.96

9 0 %  C.I. WJ  6% d
a : ( s:  f

.2148= (--5.05 ’
,214s (5.05) )
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0JHl 90% C.I. UUJ Adam  (ratio 6OJ  s.d. lJD&k1~~o7n&N A IIR:I&J B)

n,  = 7, SI  = .1042,  s:  = .0109

nz  = 6, sz  = .0186,  s:  = JO03

s: .0109
- = - = 36.3333
s: .0003

90%  c.1.  .,J2 = $0 (2 f(6’))  o1  >$  fu, 6).  .o> ).

zz (
36 3333
4.95, 36.3333 (4.39))

s: - .2241= I.9105
si  - .I173

9 8 %  C . I .  UOJu:/u:riO  ($f,r15j o,,  ;+  f(s.  5).  0,)
I

= ( EE,1.9105 (10.97) )
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2
3 - 16’6964  = .8730-
S: 19.125

98% C.I. UDJ  a:/$2  40 ($ f(,l,J ,o, , j fu.  7).  .OI )
* .

= (g, .8730  (6.99) )

= (.  1249, 6.1023)

’ 98% C.I. UOJ  UI/UZ  da (.3534,  2.4703). .

i.Q  l%fhNlt$16  flu  ‘IIltJ  25 flu  ~16noUU,~95g,Uir,nd*n,~wQt90~~U WillhlflQ

i,w”ndnrr,Nd~~,n=,,UU,*~“~~?8  CIZlIUU  IlZ s.d. = 8 flXUU hihdfMlTflU

n’lflNMliifJ~n”  82 fI:ILUU  IltX  s.d. = 9 fEl1Ul.I

n) omi  95% c.1.  uaa  0: (KIU)  LI~~IOJ  US (nf@)

U) Wnl  98% C.I. UFIJ  u:/u:  lli?:  ado2

KlU : nl  = 25, s1 = 9, sf  = 81

nt$J  : n2  = 16, s2  = 8, s:  = 64
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5: 81
-7=g = 1.2656
ST

95% c.1.  vu09  a: ikl

= (49.3852, 156.7616)

:, 95% C.1.  ~3 u, ri0 (7.0275. 12.5204)

= (34.9243, 153.3057)

95% C.1. “uaa  UL  ik (5.9097, 12.3817)

=(S, )1.2656 (2.89)

= (.3847,  3.6576)

9 8 %  C.1.  9189 u~ioz da  t.6202,  1 .9125),
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